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Time allowed : 40 minutes

DIRECTIONS TO CANDIDATES
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Name :

Attempt all questions.

Write your name on each page.

All necessary working should be shown in every question.
Calculators are permitted.

Start each Question on a new page.

Answers are to be completed in blue or black pen.

Write on one side of the page only.
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Question 1 (Start on a new page) (11 marks) Marks

Evaluate ——>— to 4 decimal pl

(a) Evaluate S— 0 4 decimal places. i
(b) Write 5.2 X 10™* as an ordinary numeral. 1
(c) Evaluate 7.52 x 10* X 3.24 X 1073, giving your answer in Z

scientific notation rounded to 2 decimal places.

14
(d) Given thatr = ';ﬁ , find the value of » when V=20 and 2= 5.2, 2
give your answer to 4 significant figures.
1 1 1 '3
(e) Ifx=5,y=zandz=-s-,ﬂnd 3 Txy to 2 decimal places. 2

(f) Write 0.52 as a fraction. Show all working. 3



Questionrz 2 (Start on 2 new page) {10 marks)

(a) A. worker on $398.50 per week was offered a new wage
of $406.95 per week. What percentage increase is this?
A _nswer to 2 decimal places.

(b) Simplify:

()
(i1)

(i)

(iv)

5a?b x 3ab?

(—4y)?

32xy? + 16x%y

5x%y zZ . 10xz

4y3z 4x3 ~ 16y2

Marks



Question 3 (Start on a new page) (11 marks) Marks

(a) Subtract (2x +y—10) from (x —4y +7) 1

(b) Fully expand and simplify:

Q)] 8a — 4(2a — b) 2
) 3Qy—4)-57-2y) 2
(iii)  (2a-3)(2a+3) 1
(iv) (x-—3)2x*+2x—1) 2
v) Ra+7)? 1
(vi) (6a—b)(Sa+ 2b) 2

Question 4 (Start on a new page) (12 marks)

Fully factorise the following:

@) 4a + 2ax — 4b — 2bx 2
(i) 27-x3 2
(i) x%+10x+ 25 1
(iv) 3x%2—17x+20 2
v) 2x3+16 2
(i) y3-3y*—4y+12 3

End of paper



7 o X2—x—6 2-9
5(a)S|mpI|fv’;(xi2) +x9

1 1

al-a a’+a

(b) Simplify

1-x"1
x 2=x"1

(c) Simplify

(d) Simplify \/16x2y2(y2 + 8y + 16)
. 4 2 4
(e) Simplify Yo F 202

(fifa+==5,finda® +—
a a

(g) Find the maximum value of y = 9 + 6x — x?
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